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» go for a walk[a swim] in
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» have no time for rest
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the purpose ofE HE % <& The investigation
was made for the purpose of finding out what
really went wrong. D&HAITH]Q| 21012 2oL 7|
LIa ZAZE AAIZIUCE (2) SAHE MM FHS Lt
Etdl 2= for CHel to RHALE AHEE O | took
vitamins for skin problems. [ =to cure skin
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» go home for Christmas
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» | stayed in Paris for the summer.
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» money for books
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» a college for women[a women's college]
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» shorts for summer
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» articles for sale
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» The book is written for children.
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» a claim for damages
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» the struggle for existence
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» He looked at me for an explanation.
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» admiration for her beauty
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» have a taste[a dislike] for Korean dishes
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» He has no talent for singing.
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» (an) eye for (an) eye =0l= =

» a check for 50 dollars 50=2{2| =%

» This cloth sells for $5.
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SHEXE RELCH= 532 LHZEE.

[Of=] (1) MOF=0| CH5H0 5221 .= at $5 a yard. (2) H]
WAH-MA = EE at a high[a low] priceO|X|2t,
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» for my part[ = as for me]
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» | don't know, and for that matter, | don't care.
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» So much for that problem.
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» For details, call 225-6702.
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» walk (for) ten miles
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» stay[be] there (for) three weeks
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A= MEkst & 912 ) For three weeks we
stayed there.)

» | haven't spoken to him for[{(Z=2 0O]) in] three
months.
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» We stand for lower taxes.
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» Are you for or against my proposal?
T4l L Metof| R ALt BT L7

» The crown stands for royal dignity.
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» He is a member for Silverbridge.
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» What can | do for you?
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» She knitted a sweater for her daughter.

= EHE flol A%EE BCHCRAIE 7L ACHol| A ™
S| =KX= K| &S, She knitted her
daughter a sweater.= YEN O = A7} MY
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» She opened the door for me.
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» a plane for Alabama ztHjOfsl H|SH7 |
» start [leave] for Boston EAES $F510{ E8I5ICE
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» an appointment for tomorrow at two o'clock
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» The Nobel prize for 2002 2002 = 9| L HIAl

» The meeting was arranged for Saturday afternoon.
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» There can be no cause for complaint.
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» Milk is good for your health.
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£ Milk is good for you.).
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» too cool for August SEX| 1= LHFE MMSH

» good enough for a child {ZI0|X| 1=

» She is mature for her age.
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» For every bad man there are many good ones.
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» He was mistaken for my son.
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» We chose him for our president.
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» a country famous for its wines
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» for lack of food Al2f H= [ 20|

» jump for joy 7|8 A 5Tt

» He was imprisoned for theft.
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» You'll feel much better for it.
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» For my birthday, my mother gave me a ring.
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» He was named John for his father.
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» It's time for me to go. Z A|ZIO|C}

» I'd like for you to come.
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» It is important for John to do that.[ = It is important
that John do[{F 2 Y-H[ZAl) should do] that.]

£0| 1 & E sh= A0| ZSICHcf. [01§4] (1)).

[01&H] (1) CH2 xtO|ol| =2| < It is easy for John to do
that.0ll M for JohnO| =H0| Zgtx|{ ' 1742 5t
= A2 E07|= Lt (FollAl= o Zoh,2tn #HA
= AL, 0] 2% That is easy for John to do.9|
SHENZ HFTO] £ 2~ QX[ *It is easy that John
(should) do that.O|2}11 HH2O] £ = S8, (2) |
stopped the car for the children to get out. (Of
0|2 W{F2{ 1 XtE MIHChHe| oIEXE 282
T2t =X 2 LIEH = ™AL 20| 42| S04
7} CHE AL, (in order) to let the children get
outd} Z0| HHIO| M= 0| 2.



Q =

SEN,

14440 (2ol S0H-Z2-MO|Z2S F1) 2fLFsHH 0|
02, 1 }E2(cf. BECAUSE P LA [0{H): (=
ZE E¢E 0[80]) J™ = A2

» It is morning, for the birds are singing.
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» | did it for they asked me to do it.
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